+ + +

Lose: Lose: 36 — 422 — 0 Lose: Faktorisiere:
3-(2>—25)=0 (r—43)-(z+11) =0 r? — b5r — 14
+5 +3 43 und —11 (x+2) (x—7)
+ + +
Faktorisiere: Lose: 3" =10 Nullstelle von: Dy voni:
z* +z — 30 f(z) =1In(3z — 5) fz) =
3 — In(5z + 20)
In(10)/1In(3) ~ —
(r+6)-(x—05) 2,096 2 | — 4; 00|
+ + +
Lose: Scheitel von y = T —3 7 /
) = Az’ — 8
(8+22)2 e =0  2-(x+5)2+7 @) = e 4" — 8]
Polstellen?
—4 (=5[7) 0 undr —5 282" — 8
+ + +
! ] 27 6. V| 04211’
3r —8 P
ET=oE = 14 V/a? 0,8 - 211
- - -
1 0 3 2 6
1 5 21/
na®) + 77 0|x|3 5 x| -1 D
—2 5 —1 5 3
Lb‘s6ung: Lo‘;n;i:g: . )
2 —5 —17)
v < 3 ) <—13 7
- - -
4 ~3\ (7 0\ (77 L (F
7 713 8 || 4 21 L5
—4 2] \6 15) (-1 3 4
k=7
9 12 17 _9



+

Abstand zw.
(1]0/2) und

(—5[3/0)

Abstand zw.
(0]2) und (24]9)

Loésung:

7

Anz. Abkiir-
zungen aus 3
Grofibuchstaben
(ohne AOQU...)

Wahrsch., mit
5 Wiirfeln
genau 3 Vieren
zu werfen

Lésung:

26° = 17576

lim (:C3 e ")

Steigung

+

Anz. Dreiklange
(gleichzeitig) bei
Auswahl aus 8

ToOnen

Steigung

27550 zwischen (4]2) zwischen (—2|5) von y = tr—7
und (9]17) und (5|—2)
o (25 11y .
0 112 — 3 sz = 1 tan™"(5) = 26.565
+ +
8 9 ? 9 3 14
8 9
10 30° 470 4
o 7
6 5.196 53 5
+ +
? _?7)2 —
§_|_§ 1+l: - (:E ) 7 (21.)3
50 * r°—"7r + 49
@ L—|—1 Losung: .
2 7 und 14 8z
+ +
log,,(700) ~ Dreisatz: Dreisatz:
In(v/ed) io( ) P elsal
8ol 20 30 10+ 6
147 157
5 2 o Losung: Losung:
/ 2 21 4
+ +

+

Anzahl

GELBINI

Anagramme von

Losung

71/2! =

[ee]
/e*%d:p
0

2520

DO —

Steigungswinkel

+

+



